l2. |

/3.

www.Padasalai.Net

Fat H

x s
' e et

g 2 LAN}! : " '!:':. IP—} 3" "_-E_i._‘_g?:l
I4a | %os 2
L = Q- 5 al
P v
h + Q. f} f""r"" p
| P Aolutnon y |
6- b . "yJ.FL . : ),
‘i;g ‘,) Jivn oy 'fna;}],_
q -¢ el

| o2 marks

1O Doman= 2 0,1,2,2, 1,5 ff

‘-J-J}L §3,456,7,2%

“51 JJ—HH g Jou = n ¥ xeA
|!'|af (‘j,[p,{ da ’EM-%—MN

el [
MIfias8  ku-a ¥ 2éh,
aep

B (wu-} a (onttad afu,u.*l-ﬁh.

Fhl =3
T La =10

| 5(3’}5/![”“46}

:'.' o 8, .-~ —

i
| %327 =0e-3)( 2% 23% 19)

a3t - w-0"
| x%q 2 (242 (28

| Ltn= (ot -3)1' (.r.-+.2)( 1% 244)

I
|' { ov)
| LI‘J-'T)*

Tem Thab T
HATHIL.
Tl_l ¥ reayid
5. A=z §r.2,0 %7
0: § 250 6800
f 2N
'r": ( ﬁ 4 E 1 ]
ORY)
A-tm~'_‘|-_;h-3} Jl.rs :*"i} .uq?'r ‘f!"(’ y
(3.3),3,0 9%k ) O KN
. o, 3857 O
62 *Tr“-fr'y' .
et 1) a,%, ”'“kj —(
ArB -
A xi
- &
I"-‘a—l'b"’"‘ -
N (Aﬁnj-@‘f-)
- e O
fu_'ﬁa'hj
| - - L
Jﬁ" > | 6 +3 2 ;-ILZ—HO
j-pyh):ﬂ"al
Pl ogp e

() d-h2 T 37

01)

( dogoh = E-ALI)

J fdah’h} 'r(j"'ﬂ)i"

g~ —-@

% Sy = 4. =

qhd" - U 32
X . \
A+ = -4 A (E_:}J-

1i’q'z. ”I

The B degrws I
Nt T

'@ e a2 (Bl -

- M00 - ¢ .2
- Abr omt

') - (i eak.9 ¥

&-}3){.1-2)(
(on

| ()L"-—"t}(tl-‘“""*

»*
A DEF i
frea § " {
Ao A DEF= 7§
¥ L

1. L -3y bz =P —@
-.--I-jl, -.I..I'.:ﬂ-l@
Re4yr . = A1 @




T WP NFID TERM TEST VWA 2090
STANDARD - X

MATHEMATICS
TIME: 1.30 hours MARKS - 50
SECTION - 1
Note: (i) Answer All the questions. _
L (ii) Choose the correct answer from the given four alternatives. Ox1=9
I. f:R — R defined by f(x) = x is called : _
(a) Constant function ’ (b) Identity funcnon.
(c) Inverse function (d) Reciprocal function
2. Composition of function is associative
(a) Always true _ (b) Never true

(c) Sometimes true

3. f(x)=(x+ 1) = (x—1) represents a function which is

(a) linear (b) cubic (c) reciprocal (d) quadratic
4, 7%=—(modl100)
(a) 1 (b) 2 (c) 3 (d) 4
5. Ifthe HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is
(a) 4 (b) 2 (c) 1 (d) 3
e o :
6. The next term of the sequence —,—,—,—, =woreeseensenee IS
' 16 8 12 18
| 1 2 |
) — (b) — €)= d) —
24 27 3 81

7. A system of three linear equations in three variables is inconsistent if their planes
(a) intersect only at a point

(b) intersect in a line

(c) coincides with each other
(d) do not intersect

8. Which of the following should be added to make x* + 64 a perfect square
(a) 4x° ‘(b) 16x° (c) 8° d) 8

= — then they will be sir-nilar, when
DE FD

@@ |B=|E ® |A=|D © |B=|D @) |A=|F

9. Ifin triangles ABC and EDF, 25 _ BC
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2 X - MATHEMATICS
SECTION - 11
Note: (i) Answer ANY FOUR questions only.
(ii) Each question carries TWO marks. 4x2=8
A Relation R is given by the set {(x, y)! y=x+3,x€{0, l,2,3,4,5} . Determine its
. domain and Range.
. Define:
(i) Identity function
(i) Constant function
Solve: 5x =4 (mod 6)
Find the LCM of x* -27, (x-3);, x*-9.
If A ABC is similar to A DEF such that BC = 3 em, EF = 4 cm and the area of
A ABC = 54 cm?. Find the area of A DEF.
SECTION - 111
Note: (i) Answer ANY FIVE questions only.
(ii) Each carries FIVE marks. 5x5=25
Let A = The set of all natural numbers less than 8, B = The set of all prime numbers less
than 8, C = The set of even prime number verify that
Ax(B-C)=(AxB)—(AxC)
If f(x) = 2x + 3, g(x) = |- 2x and h (x) = 3x. Prove that fo(goh) = (fog) oh.
The sum of three consecutive terms that are in A.P is 27 and their product is 288, find the
three terms.
Rani has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm, ................. 24 cm. How
much area can be decorated with these colour papers?
Discuss the nature of solutions of the following system of equations.
y+z:z+x:x+y;x+y+z=27
4 3 & %
2 3
Find the square root of the expression x_z 3% " e 10y ¥ ¥ u
y y s x
, SECTION -1V
Note: Answer the following: _ : 1x8=8
(a) Draw the graph of y = 2x* and hence solve 2x* —x — = (.

(OR) S
(b) Construct a triangle similar to a given triangle PQR with its sides equal to g.of the
' 3

corresponding hides of the triangle PQR. (Schre factor 2 )
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